10.
11
12.
13.

[S=RE ¢ o]

10.

A

Derivative Drill Worksheet,

Y = /7 + 3z*
y=dg—25

y = 5000

y = 71999
y=4€/5+-5--—:c§
y=52

y = {z + z?)?

y =5zt + 723 — 322 + 10
y = az’ + /T
y=2z°
y=2°
y=3

- V&
y=-et+zx
y=3e"’+$;"
y=3.241°
y=47F + 4%
y=m" + he*
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Part 3
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Ly=atx

y =2z + 7" + 3+ 5%)
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Y =T
¥
L Y=%

_ 331.31;2—5
- Y=

_ =4z
y= W
y=(c®+2%)(3" - vz)

L y=az’-c*

y:$2,5::_22x

Y=

— 14z
Y = 50-et

Let h(z) = f(z)g(z) and k(z
h'(1), 1(2),...,0(7), and K'(

e’

5(z)

Tt

z | fz) | 9(2) | f'(z) |g(z)
1] 4 |-10| 05 5
2] 2 | -5 | 0125 | 55
3 5 | -1 [-0.0675] 6.3
il 3 [0 1 7
5] 3 | 7 -3 5
6] 7 | 16 | 3 5
7120 | 45 | 4 3

= £2) Given the table below find
), K'(2), ..., K (7), if they exist.



Part 4

= (z + z?)*
y= Ve

y = 2%
y=vz?+5
v = 25
L y=6%
LY=o

.z = e+’
Ly =2
Cs=(t+2%)e
= VD

. Let h(z) = f(g(z)) and k(z) = g(f(z)). Given the table below find
P(1),K'(2),...,h'(6), and £'(1),%'(2),...,K'(6), if they exist.

z | flx) | 9(z) | F'(z) | ¢'(x)
12 [ 2 [ 20 ] 5
2 2 | 3 |19 [ -4
3] 5 [ 6 | 17 | -2
41 6 | 5 | 13 0
5] 8 [ 4] 5 | 7
6] 3 [ L | 2 | 22

. Find the linearization (or linear approximation) of h(x) and k(z) at z = 4. (Hint: A
linear approximation is the equation of the line that is very close to the graph at

z = 4. It should touch the graph and have the same slope as the graph. Which line
could that be?)
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Part 5

y = sin(z?)

v = sin®(t)

y = cos(e?)

y = tan(})
v=1z’sinz

w = 2%sin(z7)
y = cos(sin z)
y=secx
y=csca
y=cotx

y =sin’z + cos®x

V=g

¥ = 5

y=rtanz

y = sin(—8) |

y = sin(az® + bz + c)

y = cos(tanz) secx

__ Bcos(sind
¥y= tan{e?)

4

sinrcotzcscxrtanz

Y= asz(i—cos xT)secx
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Part 6

y = arctan(z?)

y = arctan(ln z)

y = In(v/z)

y = 3 arcsin(cos z)

y = arccos(z)

L+ yt =11 Find the equation of the tangent line to the curve at (—3,2).

y=¢elnzx
y = z%Inz?
y=is
y=Inz®
y = /arctan(z?)
y = log,x
y = log, 27
Part 7
2 _ 42

. tany =€
El —y 41
In(zy) = z?
y=2a°
y = (sin z)®s=
y = (Inz)*

. log,y =5z
arctan(y?) = /z



Part 8

o 7
' al»rgo Iné

. lime*Inzx
F—00

lim e *lnz
z—0t

(a) Find the local linearization of y = cos(y/z) at z = =%

(b) Find the best linear approximation of y = cos{y/T) at z = 7.

2

(c) Find the equation of the tangent line to y = cos(y/z) at z = 7*.

(d) Find the local linearization of y = f(z) at x = a.

(e) Draw a picture illustrating the local linearization of a function at a point.



